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In which physical region of Rajasthan Mukundra
Hills are located?

(A) South Aravali (B) Hadoti Plateau
(C) North Aravali (D) Middle Aravali
T % g s wew & Je s wEifsat
fReaq €7

(A) afavit srreer
(C) Tl erast

TRl U8R
(D) 5= araaet

Change the voice of the following sentence from
the options given below :
Who teaches you such things?
My whom are you taught such things?
(B) You were taught such things by whom?
(C) By who was you taught such things?
(D) By whom you were taught such things?
4  Which of the following features allow you to
narrow down the data in your work sheet?
(A) Fill Handle
(B) Filters
(C) Sorting
(D) Merge Cells
Preferfias & @ % 6 gfaEn o T b §
3 H aH W @ o A 27
(A) fea ¥=a (Fill Handle)©
(B) Tezd (Filters) »
(C) wifem (Sorting)

\g)‘)/q—ﬁﬁ?\q(Mergcal-s;}
ﬁﬂﬁlﬁﬁﬁﬁfﬂo‘eﬁmﬁqﬁ?

(A) Q. €7, TR
(B) Td, TEYE, qaqd]
(D) %a%d, &1, 3wy
If the average of m numbers is n2 and th{;lt of

n numbers is m2, then av erage of (m + n)
numbers is -

afs m FEE H s n2 ¥ o =@ ave n gene

10

11

12

Cal m? ¥, @@ (m + n) GE@E & oiEg & -
mn (B) m/n
(C) m+n (D) m—n
3PR ] <> E N
WA L
~-m

F 5
@A man sold two tables for Z 720 each. On one he

gained 20% and on the other he lost 20%. Find
his total loss or gain in this transaction.
(A) Loss of T 40 (B) Loss of X 60
(C) No loss no gain (D) Profit of T 40
@mﬁﬁﬂﬁ?ﬂm?UOﬁﬁ | O T
50% % qe gEd uT 20% wh f‘mﬁft
d & P fpar BT Al BT 7
g)%mﬁzﬁ T 60 & ®
(C) = &if T & (D) T 40 &1 &N

Which shortcut key is used to delete a file
permanently in Windows?

W||1d0\vsﬁmwﬁﬁ7@f‘ﬁlgﬁiﬁ‘s‘cﬁa;m.;
Trg STz e 1 WA Bl § 7

(A) Backspace B Lk
Delete

(C) Shift + Delete

Under whose leadership was the excavation work
of Ahar accomplished?

(A) B. B. Lal (B) V. N. Misra
(C) V.S. Wakankar (D) H. D. Sankalia
mmmmmmﬁﬁmgmm?
/\)‘eﬁ‘éﬁFﬂﬁ (B) 9. u. faan
(C) . vg. a@v@t Dy ud. 1. gkt

Where are files moved in windows after deletion?
(A) Control Panel
(B) My Documents
(C) Windows Explorer
(D) Recycle Bin
fediz 29 &% g fee & W ®el o & ?
(A) @@ S v
(B) = StagHed »
(C) Tauers waaT >

\)ES framfera fam
The river which is known as the sorrow of West
Bengal is -
(A) Gandak (B) None of these |
(C) Damodar (D) Brahmaputra y
T, o afyes ST w o wer o ¥, a8 E -
(A) TU=H (B). 8 & &g 71ék
(C) =zmrRx Dy swig

Who was the father of Ajayraj Chauhan of Ajmer?
(A) Durlabhraj I1 (B) Prithviraj |

(C) Chandraraj Il (D) Vigrahraj Il
I ¥ S e % e A 47

(A) (B) gedras werm ¥
pogade 0l

(D) fawetw fadm »
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13 Vitamin that acts as a hormone and increases

absorption of calcium is -

(A) Vitamin D (B) Vitamin B,

(C) Vitamin B, (D) Vitamin K

T foifi it &A@ avE @ s ¢ S Hivea
& AT FEIaT & —

AT Tt &
(C) e 4,

(B) faart= =,
(D) faerf= &

14 A group of 1200 persons consisting of captains
and soldiers is travelling in a train. For every
7 15 soldiers there is one captain. The number of
ﬂ captains in the group is -
& Td Al & 1200 Rl & s e T 9
I BT TET & | qel gAE 15 AFE 1 uH A §
39 99 | <l B qEn § -

(A) 80 (B) 85
(C) 72 (D775
15 ‘Terah Tali’ dance is performed in the praise of
Folk God
(A) Tejaji (B) Ramdevji
(C) Gogaji (D) Mallinathji
qEAE T @ <adr & &fa § fear
ST # |
(A) Fsirir \(By TaRast
(C) st (D) HewiraTas

16 Who is chairman of DRDO? (As on 18th
December, 2022)
(A) Dr. Alok Jain (B) Rajwant B. Singh
(C) Samir V. Kamat (D) Dr. Vijay Singh
DRDO % ereaat %9 & 7 (18 femmz, 2022 % srgam)

(A) & oE 3 (BT 4 fie

(C) @R . &™a (D) =i fawig iz

17 Salute -Iis a -

(A) Constellation

(B) Space Station

(C) Geostationary Satellite
(D) Rocket

gz - 18 0@ -

(A) &= %

(B) arfee R

\(_Q)/Wm

(D) e

3PR | <>

oy TSor T
g »~ S S
cugd g
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18 The ratio of radii of two rlght//c):?i'cular cylinders is

2 : 3 and the ratio of their heights is 5 : 4, then the
ratio of their curved surface areas and volumes
are respectively :

A WG dael B Breel & oega 23 T
e o o 5 : 4 ¥, A N dw & 9B T

AT U ARG BT A AL &

(A)F6: 55 9095 (B)“9555; 653
J2y5:6;5:9 (D) 5:9;5:6
19 The ten@was coined by -
(A) Reiter (B) Khorana
(C) Brown (D) Aristotle
g1z gifeRerfoent 1 wewed fear @ -
T 2 (B) g
(C) smsd (D) 31t
20 Who among the following won his 25t world title
at the World Billiards Championship held at Kuala
Lumpur on 8-10-2022?
(A) Geet Sethi (B) Aditya Mehta
(C) Saurav Kothari (D) Pankaj Advani
frefaflas & & fpa 8-10-2022 ®1 Ferrerer gy
sdifere foea fafvada Areaamena & orowr 25 of fasa
flgarg e ?
(A) T & (B) onfe wzan
(C) €ra rerd \ (D)
21 Lakshya Sen and Kidambi Srikanth are associated

with which one of the following sports?

(A) Badminton (B) Tennis

(C) Football (D) Cricket

W& 8 vd feperal daia Frfafaa § 4 faw @w &
el & ?

\(A) defire (B) 2Fra
(C) eam (D) femebe
22 Which of the following industrial areas is not

located at Jodhpur?
(A) Napasar (B) Mandore

(C) Pal Shilp Gram (D) Boranada - 11]

Pt & 3 g w1 ol dr e & fa 78 %7

\ (A T (B) wet

(C) = g g (D) e -

23 UUYR’ 9= ¥ HH-| quw :7

(A) st aogew (B) wwer Tgo
SIS TGN (D) H1 Fgey
[ Contd




8§ Who is Chief Election Commissioner of Indj

5 (As on 18 December, 2022)

24 DASH diet is recommended for patients suffering

from disease -
(A) Hypertension
(C) Gastritis

(B) Anaemia
(D) Liver cirrhosis

331 (A.0.08.79.) oMot o9 <A @ wEE B 9| (D) Sunil Arora .
T T R E (:’r'] Snﬁ%g@ngagﬁﬁ?%?(lsm,za
Ma; @ B) wd % A
T (A) @ geIeT Tad

(C) wieweny

(D) wga ferdifig-

25 Read the following passage and apsyer the
question that follows, choosing the correet option:

Recent research into antibiotic - resistant 29
bacterial strains suggests the need Ci;'or a re- (A) Government undertaking g
examination of the frequency with which. doctors (B) Joint undertaking of Government and priv.
prescribe antibacterial therapy. One study sector
demonstrated, for example, that m,‘o_,st minor (C) Private sector company
bacterial infections will resolve without treatment (D). Cooperative sector COMPEE
within 5 to 14 days of the onset of sy_inptoms; a Rl Ll L W ¥
course of antibiotics might reduce that Zt‘i_me frame ®) Wﬂ @t ;q;’;;[ & 1 G S

/ 2 indi
by only 1 to 2 days. A second study indicates that (C) Pt @ &

the incidents of “superbugs”, which have resistance
to a wide variety of antibacterial agents, is
increasing significantly and that thesé-'bugs are
more likely to spread among those whohave been
treated with antibiotics within the pasfS years.

The passage is primarily concerned. with -

Q.
(A) contrasting the views of doctors and 'medical (C) Shekhawati Sudhar Sangh
researchers with respect to prescribing drugs. (D) Chirawa Sewa Samiti
(B) questioning the routine prescription of Tr=fofad & @ sramare § feog d@eT @ T 1921
antibiotics for bacterial infections. | SR & gwrg ¥ g3 ofr?
(C) discussing research into the symptoms of ) SEEre feaE vargd
(B) sr@mErdl gsHosH

acterial infections
( explaining a change in the frequerncy with
which antibacterial therapy is prescribed.

26 Translate the following sentence into Hindi :
He caHed a taxi for me.
(B) @7 At fou us e @@ o
(C) 384 931 U% a4l Hell ,y
(D) 384 g3 2aE Y| L

27 Find the missing number.

@ Gen §d B |

47 * 38=28374, 53 * 16=6135, 20 * 92 = 9 STHRYITEY feperen A ® 7

(A) 2920 (B) 9220 (A) firdy @1 ad T
C) 1840 Py 2902 ‘ 3 :

( , (C) e (D) &muor

3PR | O

30

31

32 Amarshahi is the name of -

(A) Om Prakash Rawat
(B) Susheel Chandra
(C) Rajiv Kumar

(B) @it a1
‘\(g/géﬁa A
(D) g o

Rajasthan State Ganganagar Sugar Mill is a -

(D) Hedrl & @l Bl

Which of the following organisation was founded *
in 1921 in Shekhawati under the impact of Non-"

cooperation Movement?
(A) Shekhawati Kisan Panchayat
(B) Shekhawati Prajamandal

(C) grEmErer gur w9
(D) fagrar dar afifa

In which year Government of Rajasthan unbundled
Rajasthan State Electricity Board (RSEB) into five
Government Companies?
TR FhR A 5w a § qore g faga @€
bl g R FFTE F wie gy ar?

1995 (B) 2000
(C) 2012 (D) 2007

(A) Terracotta Vessel (B) Pagdi
(C) Jooti (Footwear) (D) Jewellery

[ Contd...
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33 Which of the following devices can perform both

35

36

]

(A) Jalore

(C) Jodhpur (D) Jaipur

g it T siiwfiae @ell 1 gEreT TR &

ge1 53 gra _Gled & fear

(A) T (B) &FAITTG |
CY T (D) sEgY

Where was Bhakti Saint Ranabai born?

(A) Pilibanga (B) Sanchore

(C) Harnawa (D) Dehara

(A) drefEm-3 ) @iar
\(Cy FeArar & (D) ¥ A

‘Amendment’ & form W 37@.%-

(A) @HiE wone

(C) fead (D) wwwfi

input and ontput functions?
(A) keyboard

(B) mouse

(C) trackball

(D) communication device
frfofad & d S\—ar fearg
% 1 BT Gbar & ?

(A) B ¥

(B) #rSE ¥

() W,A

(D) ga9 feamw

34 Who was the first Indian to scale Kanchenjunga

in 1977 and is known as ‘Snow Tiger’, who died
recently in October, 20229

(A) Umesh Zirpe

(B) Colonel Narendra Kumar

(C) Col. Prem Chand

(D) Pankaj Kumar

#H F TR AN ¥ G G A wd 1977 §
HAST Hl B B AT TG AT o7, Ry et
g H g, 2022 ¥ gy # wE?

(A)/Bﬁﬂﬁaﬁ

(BY FE TR AR

(C) & wHE=<

(D) d&sT FHIT

Rajiv Gandhi Rural Olympic games were
inaugurated by Chief Minister of Rajasthan in

(B) Hanumangarh

R | <>

T U soege 2

38

39

40

41

42

43

i

In a mirror the image of an X object appeared 10
be inverted and enlarged. The type of mirror IS -
(A) Convex mirror (B) Parabolic mirror
(C) Plane mirror . (D) Concave mirror
Qﬁﬁwﬁwa@){aﬂaﬁﬁmmaa@m

dl,2 | 41 st gl &
2:’)31v Jaa o T
(C) aqaer ador D o
Replace the underlined part of the following
sentenice with one word from the options given
below :
She. teaches the science of the life of plants.
(A) biology (B) pathology

botany (D) zoology

£y

Ch_i)pse the correct antonym of the following word
from the options given :

Freedom
(A)" unchained independence
(D) liberty

(C)—slavery

ThevElection Commission of states give their
recommendations regarding disqualification of
assembly members —

(A).To Lokayukta

(B)._ To High Court

(C)*o Chief Minister

(D) To Governor

T & fratas smarT faeus g get # @Al &
e H oqr qumst 39 § -

(A)~wirbrgad

(B)'3=@ Ao g &l

(C) gea W=l @l

(D) T Bl

Silver article turns black when kept in the open
for'a few days due to the formation of -
gick s T g W Pp R go @y ¥ |1 oI @
BT I & S & 7

AgSO,
(C)vH,S

(B) Ag,S
(D) AgS

The compound which gives alcohol on
reduction is -

(A) Initroalkane

(B)..alkyl nitrite

(C) alkyl cyanide

(D) alkyl isocyanide

qe e srvags § uwblew frear ¥, gz ¥ -
BT ]

(B) "ftww wmgzige
(C) Ofwwa arggs
(D) ofwwa sngarERERS

[ Contd...
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A = e 0
B c
44 In a triangle AABC. 2/4—3/B — 6ZLC th‘:n
LA, ZB and /¢ respectively are -
U6 BuSCAUBC ¥ 2/4-3/B=6/C, W
ZA, /B 7@ £C wuy: & -
(A) 30° 60° 900 (B) 9q9, 45°, 45¢
(©) 60°90° 300 \(pf 902, 60°, 30°

3 Rt
S
(

45 For how many years biological patent is legal in

India?

(A) 1S5 years (B) 20 years

(C) 5 years (D) 10 years

e ¥ U% TR R o am dy tear 7
(A) 15 L 20 a9

(€) 5 ad (D) 10 o

46 The first space ship sent out of the solar system
was -
(A) Pioneer - 1 (B) Pioneer - 10
(C) Chandrayan - 2 (D) Mangalyan
X AYSH & Qe Wel Tl ST ae °ar -

\Q/nﬁfﬁm-l \}gﬁ:ﬁﬁm-m
TSI - 2 (D) HieE@E

47 ‘FTET 9= & g gy faww & -
% + AT (B) #d + 9T
(C) % + 92 (D) & + A=

48 Fill in the blank with the appropriate article.
Eat banana everyday to keep yourself
healthy.
(A) an

Ky a

Which mountaineer has become the first Indian
Woman to scale the summits of five peaks above

8000 metres?
(A) Premlata Agarwal (B) Malavath Purna

(C) Arunima Sinha (D) Priyanka Mohite
-4 wdarié gig 8000 Hier & Fd aifed &
forat ut g ardt wam wredr e &7

(A) dmerar gmarm  (B) s g
(Q/\miﬁmﬂﬁl (D) fodan wifedt

(B) zero article
(D) the

49

E. o
/f,,jc/ i

3R] O 6

50 Study the following graph carefully to answe i
the question :

Pt W% &1 GIEUHT Ydd ALATT BT TS B
e

Y/F
6000 4
5000}
4000+
3000
20001 --1- 22 L

&

of Boys and Girls

Wh Td wsfear &t

No

=)

(=]

(=]
L

—> X

U2 Coteges o 428

ﬁ Colleges -%
Boys / w2 g
/// Girls / wefaar

What is the respective ratio of total number of
students of college A to C?
A A qur C & o faanddl & g1 B HI9a
Ry

(A) 1:2 § 2k
(C)E8I 2 (D) 2:3

51 The cube root of 512000 is -
512000 &1 e & —
(A) 70 80
(€) 50 (D) 60

52 The Vagadi dialect is spoken in the

of Rajasthan.
(A) North - western  (B) North - eastern

(C) South - eastern (D) South - western :
anTEl el TSR & & ¥ S W &
(A) T — gidEd)e 4
(C) afor — qdl

53 Convert the following iadirect speeeh-tnto diree
speech by choosing the correct option : |
He inquired whether his name was not Ahm
(A) He said, “Was not his name Ahmed?”

(B) . He said to him, “Is not his name Ahmed?
;,(C)/ He said to him, “Is not your name Ahmed?
(D) He said to him, “Was not your name Ahmed?




V,m?)( Af
4N
Xep

<y Ifthe height is doubl.ed and the base is decreased
" py 20%. then the ratio of old area of the triangle
and new area of the triangle s -
afz eé P ST T e T s smeme w1 20%
¢ e o, B & QR drsrwe o et &

Ly 2l X 6o
169

A6E P IIE ¥ —
5:8 (B) 3:8
() 2:3 (D) 4:5

55 When was National Rural Employment Guarantee
Scheme was renamed as Mahatma Gandhi National
Rural Employment Scheme?

(A) 2 October, 2008 (B) 2 October, 2010

(C) 2 October, 2005 (D) 2 October, 2009
T ATHIOT ST MUY WhIH BT 719 qae T TET
el TS AT ST WY e fpar ar ?
M’KZ FEL.. 2008  (B) 2 sr@zay, 2010

(C) 2 &1#ST, 2005 (D) 2 sy, 2009

56 Two cubes of side 5 cm each are joined to form a
cuboid, then the length of cuboid so formed is -

(A) 15 cm (B) 20 cm
(C) Scm (D) 10 cm
5 &l Yo % < F Bl SIShT Uh TN ST Sl
¥ 39 WBIK 99 9919 %l @ ©

(A) 15 & (B) 20 &
(C) 5@+ Dy 10 g
57 Which of the following reactions will not take
| place? h;(j
e & A afaea T8 A ¥ 7 ca
A) Zn+MgSO, — ZnSO, + Mg :‘7
(B) Mg+ CuSO; — MgSO, +Cuv" gy
(C) Zn+FeSO; — ZnSO4 + Fe Zﬁ;
‘ (D) 2KI+Cl, — 2KCl+1, 8+
58 As per Thornthwaite’s classification which of the

following represents the climate of Jaisalmer?
JHige % i % SET Fered § 8§ B9
(A) DA'w (B) DB'w

(7 EAd (D) CA'W

S fore wore  wee g1 & Wi wren (e e T e
w9 4 faeme tear &, 99 @ed &1
(AT siqs daged (B) @ward sy
(C) wdurg (D) 48

3PR | <>

11 | =

Jubricant
lectricity

60 Choose the incorrect statement
(A) Graphite can be used as a
(B) Graphite can not conduct <: >
(C) Graphite has Jayered structu

i ize trons
(D) Graphite contains delocalized elec

gabar &
(B iz forge SR ()BT P
(C) irgrgz @ aTdEd HTET sire?r zl i
(D) Iz A oz e ¢
61 The ratio of the side and height of an equilateral
%l%ﬁwwmmmﬁm% =
A) 2:1 (B) 3:1
2:43 (D) B:2

62 In which budget year was Chief Minister of
Rajasthan declared the ‘Rajyastariya Panchayat
Award Yojana'? ) 2
Rpg Toiz a¥ § ToRAE & ged WAl 4 TeEEad
G S e B AT B A1 7
(A) 2014-15 (B) 2016-17
(C) 2013-14 A(Dy2015-16

Which one of the following is NOT a feature of
Rajiv Gandhi Scholarship for Academic Excellence
Scheme. 2021 announced by Government of
Rajasthan?
(A) Minimum 33 percent seats are reserved for
girls in this scheme. :
Higher priority is given to students whose
parents’ annual income is less than X 8 lakhs.
It was announced on 20-08-2021 on the
occasion of birth anniversary of Rajiv Gandhi.
The objective of the scheme is to provide
financial assistance to students of Rajasthan
to study in top foreign universities.
ﬁf{ﬁvr&ga H O R R G NG el iy
WY BT Vb wardiieie @i, 2021 @ fastsan
CIR I T
(A), 30 @M ¥ ad 33% We weledl ¥ fie
R
o Rl & el &) aiife s 2 8
g W B E I Iea wafear & 0 ¥
(C) g "o ol el & w1 R 1w 20-08-
2021 @ @ wg dy
(D) w8 @M & SRey TR & Rrenfiay @)y sy

ferd sl fergerfRreneral  oreos R
-&;"tl N ¥ %F&{q HErgan

63

(B)
©)

(D)

\
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iven in the
If in a imaginary language the digits 0. 1 3 4 69 Choose the correct tense of the verb g the
5,6,7, 8,9 are substituted by /., m, n, 0. p, G, I bracket.

: : T ou (speak) English?

s, t, u respectively and 21 is written as nm, then megkp (B) speaking
{(to - q.r) X mn] is equal to - (C) spoke (D) spoken
o uH Hts 9 A s 0, 1,2, 3,4, 5,6, 7,

8,9 B @9 L, m, n, 0, p, q, 1, S, t, u F WM | 7 ﬁmﬁwﬁgﬁﬁﬁﬁq—mmgqﬁ%?
foar @t qun 21 & onm foer @ oE, @ (B/‘F'

64

(A) aferga CICER e
[(1() — qr)i X mn] qOEL & — (©) LITLE| (D) srgErs
o
EA) o:éf, Eg)) q—t;'m 71 A milk like preparation can be made from the
— seeds of |
' i B) barley
65 In how(many phases the integration of Rajasthan Eég ::)ayl;gean ED)) oz:;l:)
was completed? g
(A) Seven (B) Eight % A B UH g9 S gell SR o
(C) Five! (D) Six el ¥
ST ) THT fhae ol g gan ? (A) et (B) =i
By (B) arme (O R (D) ==
(C) wral) (D) ®:

- 72  Which of the answer figures marked A, B, C and
When was Rajasthan Foundation set up? D is exactly the mirror image of the main figure?
eI (FIRTSIH & T 59 T ? A, B, C 3R D § & ®H-8 3aT sfdia o T3 &
(8) 2002 (B) 2003 TP @ Tdur By ¥ 7
(C) 2001 (D) 2000 Main Figure / J&1 #fa

66

67 Which pp%; of the following is directly related to

RN
the appellate jurisdiction of the Supreme Court of o
India? . ﬁ
(A) Adjudication of disputes between the Union
and the States

! Answer Figures / I 311?5%!11
(B) Adjudication of disputes between the States _ .
(C) Appeals made in civil, criminal and

Ay
constitutional cases
(D) Appeals made in constitutional cases only (A) ﬁ
frfafag ¥ & &9 &1 us 9 & gdied A &
i S 8 ¥ Yeed R ® 7

(A)maﬁiwmqwﬁamwmﬁm’m m{i

(B)

<k

[

(B) (% wen fardl @1 = fvteE (€©)
S, T qa1 Gadntie qobadl &1 e
(D) mwmmaa&r@m

|

73 The members of Panchayat Samit; ; :
- 68 Nobel Peace Prize, 2022 was given to Ales are - fyat Samiti,fo Rajasthan
| Bialiatfské 5 2 : (A) nominated. I
l He is rom w ich of the following countries? (B) a t "
(A) Ru§§}d (B) Erfgland © dll)rrz:ocltrl\yeskbc\tel(lim State ' Government.
,‘ (C) Ukraine (D) Belarus (D) Indlrcctly ki
N i 2 i g 2022 AW | e
fepa marr (A) T wfify % gawy -
kaﬁwﬁr&gﬁwmam%? & m‘“*"‘"”ﬁ%t '
(A) =7 (B) gwive T 2 e oy ¥
(\
(C)q?m P e w&’“ﬁﬁ?‘*ﬂma—a%u
(D) swrag ww & Praffarg A
wpr1 O
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76

77

78

79

80

Choose the Correct
5 alt i s

the technical termy - Iternative for translation of

CRPLED L

(A) plotter

(C) backplane supplement

(D) practitioner

e mous for Ajarkha Print in

(A) Barmer B

(©) Ja;;imgr gD)) IS(;)I:Zaner

FreTTan T TroRem a5y 2 ufts
41 T ?

W AT (B) er "

(C) SrEwT (D) st

The power of a convex lens is -

(A) zero

(C) positive (1[3)) inﬁniFe
T A B Ay %( _) negative
(B) a9

(D) =

"Arun Hydroelectric Project’
operation between India and :
(A) Afghanistan (B) Myanmar

is result of co-

(C) Bhutan (D) Nepal
&1 afeome | : : :
(A) TR (B) =ER
(C) Yz WP T

According to the India State of Forest Report 2019,
the number of states (Not Union Territories) having
percentage of forest cover less than 10 is -
sfvean Rz i Bt e 2019 & sgar o=
(s qTaq weeT <12Y) &I |@Edr SiEl 99 &3 ufayd 94
108 H9 2, 98 & —

(A) 7 B8

(C)xS (D) 6

According to Mendel, the phenptypic ratio of F,
generation of a dihybrid cross is -

2 HIER U fawet g6t & fadra ddfa didl

Cal | FaTd B
) 9 :3=3%M
1

H3d &
(C): 3E

(l;) {5 71
M) 1523

; i i ipur i d Patna
If Ranchi is called Raipur; Raipur is calle d
Patna is called Cuttack anq Cuttaclf lS‘) called
Bhopal, then what is the capital oi Bihar?

(A) Bhopal EIB).)) g:ttr:c

(C) Ranchi

Hﬁ)ﬁiﬁaﬁmgtmm%, TAYT B! T HET A
4 WﬁMWW%HNWEﬁ%ﬁWW

ST &, d faer @ Mﬁ

3PR | <>

81

82

83

84

85

86

O I3% |

L(A/)/beyond

b

Who was the first Chief Minister of Ajmer state?
(A) Heeralal Shastri

(B) Jai Narayan Vyas

(C) Bal Krishna Kaul

(D) Hari Bh,a%p‘]Upadhyaya

SIS T % Jo ged WS i 7

(A) e sy

(B) S oy e

(C) s Fo1 P

How much péfcént area should be under forests in
the plain area according to National Forest Policy?
T o Hifeq %) FaR Jer 8 § fbe wfasta s
(A) 932% '‘wmd (B) 3.83%

20%

How many days’ work is provided to urban
unemployed pg:j;Sons under Indira Gandhi Shahari
Rojgar Guarantee Yojana?

2 M el AwmR M A & oeiaq ored

éﬂaﬁaﬁﬁﬁﬁﬁﬂ%ﬂwaﬁﬂﬂﬁ%aﬁ%?
(A) 1208 L. (B) 150
(©) 60 100

The least dis!tén;ce of distinct vision for a young
adult with no’rﬁi;al vision is about -

25 cm (&) (B) 2.5m (#)
(C) 25m (&) (D) 2.5cm (F4)
Choose the correct preposition to fill in the blank.
Warning ! No'unauthorized personnel this
point. L)
o] (B) besides
(C) since (D) of
Who among the following artisans awarded
Padmashri for Terracotta of Molela?
(A) Arjun Prajapati
(B) Shree Lal Joshi
(C) Mohan Lal Kumhar
(D) Mahesh'Soni
ot qeanrdl o | Tood 20l o1 Hidem & e g
greehTt fem T ® ?
(A) oref wsfrdfes
(B) 41 @re el
(O e R
(D) wegr |
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88

89

90

91

ECEE

' (C) §==rr (Subdata)

?ll a DBMS, the content and location of data is
identified by :

(A) Metadata

(B) Minidata

(C) Subdata

(D) Sequence data

DBMSﬁm%mawaﬁww@raﬁ

(A) ¥=rETer (Metadata)
(B) ffierer (Minidata)

feg =1 (Sequence data)

frfafea & foe faaeg & }?@m g 9= % ?
(A) T, SEgY

(©) wers, T& (D) #Ew, s

Who was the Chairman of First Finance
Commission of Rajasthan?

(A) Jyoti Kiran

(B) Manik Chand Surana

(C) Heeralal Devpura

(D) Krishna Kumar Goyal

TN % WY {90 S @1 aems &y ar?

(A) =aifa fezo

(B) wfere g gom

(C) #rueme g

() ™ AR T

Which of the following is a physical change?
(A) Burning of candle

(B) Melting an ice cube

(C) Rusting of iron

(D) Combustion of magnesium ribbon
Prefafag & & wifas aftad & &1 & 7

(A) HmEEdl &1 ST

92

93

94

95

96

\\Ba/at% &1 foge 97
(C) & o S T
(D) Afyrga fraT &1 @&
Vijay Hazare Trophy is associated with which
sport? .
(A) Volley-ball (B) Cricket
(C) Football (D) Hockey
faora &AL 21 & @ ford qr?
(A) ardrard _ fondhe
(C) weard (D) wre
10

Which one of the following Articles of Indig
Constitution deals with the Oath of Governor?

(A) Article 158 (B) Aticle 159
(C) Article 154 (D) Article 155
AT % e % Preied e ogee §
P gy @ yreq fear T € 2

(A) s 158 \,(/B/\ﬂj?@? 159
(C) s 154 (D) @b 155

Which of the following decades in Rajasthan has
highest population growth?
ﬁwﬁmﬁﬁm—éaamﬁwﬁmq&v

¢ Iegqq @7

\A) 1971-81 (B) 1991-2001
O 1911-21 (D) 2001-11
BIOS is a part of which of the following?
S fre & @ fopg @ fem 27
(A ROM (B) WAN
(C) RAM (D) LAN

From which civilization have the remains of well
developed walled fortification found?

(A) Kalibanga (B) Balathal

(C) Pilibanga (D) Ganeshwar

T Tgan & ared! faasfa wHR god fhaesl & sy

ey ¥
wﬁr&r«ﬂw

(C) "dreiiEm

(B) SwmEgw
(D) TeigET

The Summit of the Shanghai Cooperation
Organisation (SCO) was hosted by which country
from 15-16 September, 2022?

(A) Tajikistan (B) Uzbekistan

(C) India (D) Kazakhstan

T Hedn wed (TE.del.) & ey wwew @
s 15-16 foamy, 2022 & few g A & @ ?

(A) deifepe™ (B) Iwafpe™
\(€) Wd (D) HAREEH

Most of the pathogenic organisms that cause
diarrhoea are transmitted by -

(A) Insect - bite

(B) Animal to person contact

(C) Droplets

(D) Faecal - oral route

aiftrepigr Verareer SN S SferdX BT BT A E, A
(A) @13 & @A §

(B) 4y &1 afed @ dud @
(C) 9t &

(D) e wifae wmt @
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98 In which one of ¢

Baori and Mamade
(A) Kumbhalgar g

h
©) Sitorgu” () e Bund
. ' ort
j’i} Rerg 7 B IS Prafefaa ¥ ¥ fpg
FEEG (g .
SIKES
© Tt

99 Which among the foll
by Chief Minister of
(A) Chairman of ¢

owing position is
i ot held
R_ajasthan?

(B)
Commission
(C) Member of Inter State i
1 Council
(D) Memger of National Development Council
qaﬁﬁﬁ«ﬁga%? éﬁ“—rmw%g@ﬁrmw

100 Where is ‘Great Indian Bustard’ found?
(A) Desert National Park
(B) Sajjangarh
(C) Ranthambhore
(D) Keoladeo

Who among the following, Governor consults for
the appointment of Lokayukta in Rajasthan?
(A) ‘Chief Justice of High Court and leader of

opposition in the Assembly -
Chief Minister, Chief Justice of High Court

and leader of opposition in the Assembly

Chief Minister :
Chief Minister and Chie

Courtsgs .

wmognﬁﬁmmﬂmm%mmﬁ
?

g1 aire e & A

101

(B)

(C)

(D) f Justice of High

4 fopadp @ aEel H €
(A)WWWE{@W““
E@Hﬁzgmmwwsﬁmm
forerrr e 9 e 1 A
) 228 e e v

3PR | <>

I

102 What is Nad?
(A) Attached flutes
(B) One stringed instrument
(C) A long flute
(D) Four strips of wood
TR R
Teai argfi
(B) U@ QrT aren 9 -
(C) us ol aigh -
(D) w&et @1 AT ufEEi

103 Under Indira Rasoi Yojana, Lunch is provided at
3 per plate.

zhetr @ ae T & Sd gfa =iz ¥ 39et
FH IS IUE BTGl AT & |

8 (B) 12
(C) 17 (D) 7

In MS Word, when the page margins are altered or
when the text does not fit on the current line,
which feature automatically moves the text to the
next line?

(A) Word Format (B) Word Scroll

(C) Word Wrap (D) Word Enter .
THUE 9 ¥, W9 U9 HiA et fHd 99§ 91 99
THRIZ B A W e & a1, q9 DT BET
THIE B @ € 9E WA ¥ 9 HT GHal & 7
(A) T wiHe (B) =€ w

L) = W (D) =€ T

105 Choose the correct option.
The tone of a circular should :
(A) be humorous
(B) be strict
be different for different kinds of audience
(D) remain the same for any Kind of audience

104

106 The process of arranging items of a column in a
particular sequence or order is called as -
(A) Sorting (B) Filtering
(C) Arranging (D) Autofill
fpe) wier & OIgeR & P& AgHH A1 o (Hiaey A

aEY) N egaRyd A @) ulhar @ ®er S ¥
Waﬁn (B) Reweftn
(C) srifdin (D) sirAfee

107 Prefaflaa & & wora W v d-ar ¥ ?
(A) &dar ~(B) g¥aq

(C) g D)~ gere
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the following statements is incorrect

p ich of : ]
108 What is “Mokri’? 114_Which ¢ of Rajasthan .
(A) Terra -comi Potte regarding GOYe."“,’, taken under the discretionary
e @) The £ XS not be challenged
©) La?BZ:;?gss power of the Governor ca.n -
(Y) : rt. :
D) Wool the cou
(“‘ﬂﬁ) ' (:Jrl??carpets o0 (B) lTt}he Governor cannot grant pardon in the case
(A) & & =7 g ' £ death sentence. R : 7,‘
(B) & fae > X! ©) %he Governor’s Secretariat 1S working to
\Mﬁ?ﬁ afsai — rovide administrative support t0 Govencr. 8
% p ..f of Governor’s Secretariat is |
(D) @ @t 3Rl y, - (D) The chief © : officer of |
o Secretary of Governor who 1s an -
109 The river Indravati is a tributary of the river Rajasthan Administrative Serwces.%ﬁ il
o : P % @ @ G FYA T & [ wEY
(A) Mahanadi (B) Kavery 37
(C) Godavari (D) Krishna W 8 : oty
A, @ @ () e e a3 R P )
e (8) ¥ qverRyl ¥ [UEE @EEH B
©) JIHEEY (D) ; (B) TogUT Gal Jgas & by
L2 qifer T TE €1V
110 1};\ cross between l:e'terl(:nzygoi;‘:i progeny witl{x it; s (C) T=aur @ o FErddr A& A &
omozygous parent is known as' - T e A HEE IV
(A) Back cross (B) Pure cross ! (TS %-(mma &I giaa 2l
(C) Test cross (D) Effective cross \97{ TR Fieard & 9ge e A
faomgTe G T IS GHGT!oTS b T GehTl ¥ S P ToTe weTEtTs ddr @
Bl A ¥ - o 4

XA T wHT (B) fEEE

(C) udr&wr HHI (D) WA Ehw 115 A person with blood group ‘B’ can donate blood |

to persons having -

111 Which district of Rajasthan }s _ithe part of very (A) A and AB blood groups

humid climate region?

: Y (B) B and AB blood groups
(A) Jailpur (B) Bikdner : (C) A and O blood groups
© Ajmerm m(g% eols e (D) B and O blood groups
T 1 -0 R S Sl 0T WA H | ofe o e e ot o it 35 st
(A) wagT ®) don T T HT G, qE E -
C) R (A) A Td AB BT @l B
©) NI :
B wd AB & Al @l

112 The blood cells that protect the‘Fdﬁy from microbes | = (C) A Td O &R a7 @&l
and other foreign substances are - (D) B uwd O &t =it &t
(A) Platelets (B) Lymphocytes
(C) Erythrocytes (D) Leukocytes : R O
o BT A 9T A g ﬁ}’%ﬂ SR 116 Which of the following is the main component of

i@ ; g3 \ jute fibre?
?A) q%ﬁ:;_& L (B) ﬁ%ﬂg (A) Pectin ' (B) Hemicellulose
(C) <&@ Mm (C) Cellulose (D) Lignin
113 If ratio of length of vertical rod-and length of its | (A) 3 (B) Rrrgeirs
shadow is 1;J§, then angle ofielevation of sun Mﬂw (D) faeim
is- ™M
% SEAT B & A qun sEd s @ g an | 17 ‘aftr w e T & 3 Y A § e
ST 1.3 B, @ G B T B E - ‘Zg““‘_t? -
(A) 60° (B) 90° ErarEs (B) TvrEmEs
M (D) 45° - (©) A Py aRaroraTerE

00
wpr] > 12
2
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{18 Select the odq o

Eé; Eﬁdh B) Riyal

ferem yﬁﬁm wifem D) Ruba

o= SR
19 Mahesh is 12 grop

right in a line

nd Suregh j
of esh is 12th
between them? 19boys. 1 2" from

oW Ay, boys are

gL T SR § lzﬁ%,%?mﬁ 12 & qen
(A) 4 B s T T 7
(@) 2 @}g ,
120 In hexadecimal
TR al number systen, the value of the
W i i;}““g 1 A Erar ¥
49 2 (D) 6

121 A Sum becomes ¥ 8.800 in 4
interest at the yearly
is the sum (in rupees)?

U T U =T 9T 25% afifes =arer 21 & 4 st
4 X 8,800 & Wi ¥ 1 R (B9 A) wm 27

(A) 3,300 4,400

(C) 1,100 (D) 2,200

years at simple

distort (B) beautify
(C) mould (D) fashion

IZZW the synonym of “Deform™?

123 In India, the Coniferous trees are found in
(A) Tropical Thorn Forests
(B) Mountain Forests
(C) Mangrove Forests
(D) Tropical Evergreen Forests

SEDIRAT
o S8

interest rate of 25% p-a. What |.

=
=

125 Camel Research Centre is located at -

(A) Jalore (B) Sri Ganganagar

(C) Barmer (D) Bikaner

S e He R ¥ - TC A~

(A) sRR & ) (B) e &

(C) arsir & Oy @ § Ldﬁ‘&f’%’)
i

126 The officiallegal advisor to the state Government
is - |

(A) The Advocate General

(B) High Court

(C) The Chief Justice

(D) The Attorney General

T GTHR Pl G AHal F geAe & b o

(B) wea =mred

(C) W =arndist

(D) werareEEt

Gregor Mendel, through his work on which of the
following, discovered the laws of inheritance?
(A) Sea Urchin (B) Peas

(C) Beetles (D) Mustard

IR Aved 7 fpE 9T B H AT b FTEH
yfefed vy

127

(A) wft a8 T
(C) o (D) =l

128 What is the main attraction of the Kanan Fair of
Barmer?

(A) Ghudl(aidance (B) Gair dance
(C) Gidda dance (D) Bhawai dance
ST H B AR DBl GEH SATHYOT T E 7
(A) gEe T \(BY T

(©) g 39 (D) wag

B0, T % qr o ¥ e S n
wed ¥ gigurd 9 _ 006dx625 = 2XR2%
(A) IWEHETHd e a4 . 129 What is th? ’value of m ? B '2/02//
( N ‘ ‘ 53
(C) #uE @ 0.064><6'.25: )
(D) ToTHfeag FEEET o V0.081x4i-84*- P
: ice of 10, X3 100
124 Justice Pankaj Mithal is ___—— Chief Justice o (A) 9 1 99
Rajasthan High Court. ® 40th :‘) 10
SEC BB | e " e
wﬂzadﬁaﬁaarra%mﬁ s a7 ‘m’%mdaahmm;;@sm@%_
j A) aguv’ (B)
Ter e ¥ 70 (A) o9 -
(A) 29 \?53/49 (C) T NI/
(€). 38 13 [ Contd...
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rﬁf e ERSTR PO
8 |
@ 136 The edge of a cube is increased by 20%, then itg
e
is by - :
lume 15 increased
131 Iog@ is equal to - Vol;q%wﬁzo%ﬁq@ﬁw%’mm
; iy gha & -
i 0%
log{%l] it 72.8% @ 50%
K i D) 60%
k (C) 20% (
(A) log4—log/ — logm —logk | |
. : ;
Yo L ) o 137 Which of the following is not used in the

(C) log4+logl + logm +logk
\S)I))/ZlogZ-Hogl + logm —logk

132 During the period of which Maharana of Mewar
was “Chiteron Ki Ovari” an art school in the palace
established?

(A) Maharana Jagat Singh I
| (B) Maharana Jai Singh
(C) Maharana Pratapsc 1
Maharana Amar Singh
ggl)s%mqgmvnésmwzﬁﬁ “faal @
Saf AW @ B faETey wnta et T ?
TERN A §E gUH
(B) meraom wg RE
(C) =@Tem ward
(D) HeTaom & fHE

1 2
133 If x= , then the value of x“+2x+3 is -
1+42
af x= toar x2 3 &l & —
o5 x“+2x+3
W 4 B) 0
© 2+42 D) 3+42
134 Which one of the following is newer mountain
range?
(A) Shivalik (B) Vindhyan

(C) Annamalai (D) Aravali
frefafad & & @ @ Fdivay veda e

\(/g/f@m (B) famems
(Cy” a=mqars

(D) @rree
135 Which district is not situated in very humid climatic
region? "
(A) Banswara
(B) Baran
(C) Sirohi
(D) Northern Chittorgarh
oife @ ey weer § w-ar frar fog
(A) argarst v
(B) a@ v

7

) 7

138

139

140

141

14

- 1919?

(A) Ajmer (B) Jaipur

(C) Bijolia - (D) Wardha

1919 § ‘TroTeT a1 §9’ B Gl Bl bl TS 7
(A) ST (B)  sEgY

(C) fasiferan Oy auf

W/ﬁmst%awmﬁm
(D) Starq 7 &

26 2
Cot™ 0 —cosecd = ?

preparation of soap?
(A) Lauric acid
(©) Palmitic acid .
ﬁﬁﬁﬁﬂ—ma@ﬂaﬂﬁﬁmﬁm?
(B a7

(D) feufta et

(B) Benzoic acid
(D) Stearic acid

Where was ‘Rajasthan Sewa Sangh’ founded in

Who is the Basketball legend and Arjun awardee,
who died on 15 November, 20227

(A) Gurdayal Singh

(B) Khushi Ram

(C) Ghulam Abbas Moontsir
(D) Sarabjit Singh .
W % SehesTd el U eefH geh fesidn @i
2, T 15 Femax, 2022 @l @9 & WL
() e fie

(B) gsit 1™

(C) 7M™ sreEmd HefX
(D) wtasia fs

W b a W geray & we onef ¥
(A) TgUEe B84 :
(B) eiftrs goug e ‘

(A) -1

B
© 0 (B) 2

R
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Which data type is NOT i Dy
142 p NOT in M.S. Excel? 147 Which of the following districts of the state are

(A) Label (B) Date / Tj ]
(C) Number (D) Cur?enz;me located on the international boundary from south
ﬁéﬁ—m%amm.m.qﬁaﬁﬁt? toior _
(A) | (B) 32/ Ea el (A) Jalore, Jaisalmer, Bikaner and Ganganagar
(C) =X JDT HG i (B) Ganganagar, Bikaner, Jaisalmer and Jalore
143 What proportion of area of state of Rajasthan is (e B IS
desert? (D) Barmer, Jaisalmer, Bikaner and Ganganagar
thi B) One- ‘ 2o
EQ gzlefﬂ"rd ng %i.fﬁ?ﬁh T % A A Fre et e ot o @ s A
T T @1 fehaT ST wewe & 37 ¢° iy A
(A) TR (B) us-dm (A) TER, AEFHT, HHET T TR
(C) o D) F-feg (B) TR, MR, ST Ud W (
144 Which of the following sections does not exist in (©) : ; hale
a slide layout? AT, AG@HT, GHHT TG T
(A) Lists (B) Animations \SD’/
(C) Titles (D) Charts ~
Frefefiag & § HI-61 FTUN WSS WS ¥ wiefg | 148 R’s salary is 30% higher than S’s salary. The
T E? percent that S’s salary is less than R’s salary is -
AT frre Eg;i’ﬁ‘*m R 1 a7 S % Ao & 30% oiftim ¥ R & ¥
(C) =T eH g § S & AT B e B E - o (el
145 How many times do the hands of a clock coincide (A) 30% (B) 25%
in 36 hours? _ 1 1
36 mvel ¥ ww uE A gEal o Tl ¢ ©) 22 Es
(A) 36 13 2
€533

146 Consider the following sif | is related to -

about emergent ray /

Barantee is issued by

(B) BOB

D SBI




